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Based on the given context, write the correct answer.
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Choose the correct expression and complete the conversation.
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Choose the correct expression and complete the conversation.
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Draw a line between the items that match to complete the sentence.
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What would you do if the circumstances in the below picture happened to you? Look at the
picture and make a sentence.
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Draw a line between the items that match to complete the sentence.
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Based on the given context, write the correct answer.
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Choose the correct expression and complete the conversation.
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Choose the correct expression and complete the sentence.
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Draw a line between the items that match to complete the sentence.
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Choose the correct expression and complete the sentence.
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Identify the appropriate expression for advising your friend and complete the conversation.
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